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18 men or 36 boys working 6 hours a day can plough a field in 24 days. In ho

many days will 24 men and 24 boys working 9 hours a day plough th same field ?
18 TEHT AT 36 TIShI Al 6 T Th faT W T T 24 T3 H T @ T ol TR .

feRar ToHT W 24 U 3TN 24 TSI 9 ©E U &7 o1 Uk &1 W 6T W hir?

a 9
2) 10

3) 6
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Two cars A and B travel from one city to another. At speeds of 72 kmph and 90kmph

2 respectively. If car B takes 1 hours lesser than can A for the journey, then what is the

distance (in km.)between the two cities?

RN A T Teh ITEX T A G H FTAT I 51 69T 72 Tt ufer wie @i 90 et wfer e
HITTE, AR FRBAATH TACA & 1 dSHA oar s, a Fan g0 & (Torwt #.) 2 o1l o offer?

1) 270

(3) 240

4) 400
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3 If n=7+4/3, then the value of (\/T_l + —) is
/AT T Y

Vn







a+b= 3, then a’+b’+9ab-27
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The base of a triangle is 12 V3 cm and two angles at the base are 30° and 60°
respectively. The altitude of the triangle is

frEr R 12 V3 cm T TR W 2L HIUTSHAT: 30° 99T 60° ¥ Byt
TR

1) 24

3) 9

4) 27
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Two circles of diameters 10cm and 6¢cm have the same centre. A chord of the

larger circle is a tangent of the smaller one. The length of the chord is

2 o {9Teh S99 10cm 3T 6cm NTHRT hg THTA B, EI@‘ Qﬁiﬁ‘mﬁ%aﬂ?ﬁ
TAIT G 3§ AT ST hl A8 AT Y 2

(1) 4cm

(3) 6cm

4 10cm




Circumcentre of APQR is O. If Z QPR =55 and £ QRP =75° what is the
value in degree of Z OPR?
ufehg APQR T 0 2 Z QPR =55 31 £ QRP =75° a1 0T Z OPR?

(1) 45

(3) 65

@) 170




0 The perimeter of a triangle is 54 m and its sides are in the ratio of 5:6:7. The

area of the triangle is .

ueh Frnior Y ufifer 54 wiex & 3R 36k et 5:6:7 o IquTa ¥ 21 Frewior @ &
g

(1) 18 m?

3) 27V2m?

@ 25m’




The present age of a son is one- third of that of his father and 4 yrs hence, the ratio of ages of the

father and the son 1s 5:2, then find the father’s age 3 yrs ago ?

AN [ C N\ N\

B ¢ Dl deidrel 3 IAD Ul bl e fe81s 8 31 4 a drg, fudr ik g1 bl 311
30Ul 5:2 &, 7l 3 a¥ Uacl fUdr i 31 Siie HifSie?

9D 9D
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Q10.A trader has 600 kgs of rice, a part of which he sells at 15% profit and the remaining
quantity at 20% loss. On the whole, he incurs an overall loss of 6%. What 1s the quantity
of rice he sold at 20% loss?

UdD RURI & UL 600 fdbetleldt dIdel &, [SI31bI U HISL da 15% ol U3 313 9y
AL 20% BIfol U2 Jdl 8] Ped [HAID2, 3 6% DI Ped alfol Blell 31 3ol 20%
 Blfol U2 dIdc ol fdbdoll AP d<ii? .]
A 259 kgs
B.320kgs
C.420 kgs

D.360 kgs




1 1.If the cost price 1s same and the selling price is reduced by 40%, the profit gets
reduced by 50%. If the selling price 1s increased by 20% then what will be the profit

percentage?
211 TTIeI e Aol & 312 fAh AT 40% D I SIAI &, Al 18T 50% DA Bl STl
B Al faeber He=a 20% ST fSRIT SITE Al TIret UfeT9re a1l SloIn?

A.400%

B.250%
C.500%
D.600%




Q12.An alloy of al, cu and Ir contains 85% al, 8% cu and 7% ir. A second alloy of al and ir
melted with the first and the mixture then contains 75% al, 5% cu and 20% ir. Find the

percentage of al in the second alloy.

Al, Cu 3112 Ir @1 U f3r21e1rd 3 85% al, 8% cu 3i13 7% ir 31 Al 3I1R Ir bl wb a3l
f3rererre] uscl o Arel foreretl siiz fibz f3re1v1 3 75% Al 5% Cu 3112 20% Ir BXI 31 G
 farer err 3 Al b1 uferore sid dbifse

A.49.4%
B.58.33%
C.53.75%
D62.6%




Q13.Mehak deposited a total of Rs 10500 with a bank 1n two different deposit schemes at 10% pa

compounded annually . As per the schemes ,she gets the same amount after 2 years on the first

deposit as she gets after 3 years on the second deposit. How much money she deposited for 3 years?
HBD ol BD dD 3 Gl ICIO1-3IcTdI ST ATSIoM3Il 3 10% A1t aebdl.g 62 U2 Pel 10500 DU
11 fopu] ANSTeN3Il & IofAR, 3 Uscil SIHI AN U 2 Alel D dlc Icloil &l 21fr fBrerddi 8

| 1S1tofl 321 3 21T W6 G2t Stet UR fdtcicdl 81 33tol 3 auf 31 fobdot ¢rot Sior fopar? ,]
1. 4500
2. 5000
3. 7200
4. 6500
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Q14.C is 40% efficient less than A. A and B together can finish a piece of work in 10 days.

B and C together can do it in 15 days .In how many days A alone can finish the same piece

of work?

C 40% DH PIcI & A 3, A 312 B b AT 10 {Soll 3 DIH DI 2 B2 ADd 3. B

31} C U AT A3 15 fSoll 3 D2 ADdd 3. fbelol oIl 3 A 3Tl DBIH DI AcH D2
ADAL B? |

(1) 18
2) 12
(3) 14
4) 20
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15)The speed of a boat is 8 km/h in still water and the speed of the stream is 2 km/h, if the boat
takes 4 hours to go to a place and comeback. Then find the distance of the place.

i )
A

U olld bl 9Iid Sicl 3 s1fcr 8 fpatl/ziet B iR eI bl s1fer 2 fopafl/eiet 3, At oira o1
T FeATol UR Silol 317 dIUA 3ol # 4 €¢ ¢I31d zl dl FeIlol bl Gl sira difsral

1. 25
2. 10
3. 12
4. 16




16) Pipe X and pipe Y together can fill the tank in 45 hours ,while pipe X ,pipe Y and pipe -
Z. together can fill the tank in 60 hours and pipe Y and Z together can fill the tank in 90
hours . In how many hours pipe X alone can fill the tank completely .

ursy X 3iz ursu Y fHcIas: b bl 45 @ 3 42 DA 8, Sidich UIsU X, Ursu Y 3ii
Ursy Z f3c1n: b Dl 60 ¢ A U2 ADd & 3R UrsU Y 3R Z fBictap: b @l 90 @i 3
313 APd 3| UISU X 3dbcl ¢ Dl fdbdol & 3 3R ADdI &

180
150
145

none

P -




17)A vessel contain mixture in which water is 30% and rest is milk . If 22 liter more water
is added in the vessel , then the quantity of milk become 60% more than water . Find the

quantity of milk in the vessel initially

Qb sciol 3 farervr 3 f512131 30% uroll 3 3iiz ardbl g1 31 AfS siciol 3 22 cfic urell 3iiz
férem fa Sirg, A ger &1 s aredl A 60% 3iféra 8 Sirdl 31 31 d adot 3 ger b

HABII SIId bifsre .]

1. 122
2. 112
3. 121

4. none







